29

PID
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PID

[9]
Tan Keyser [39] PID

PID

PID

u(ty= (t-12)y+Kpfe(t)- e(t- p1+K.e(t) +Kje(t)- 2e(t- p+e(t- 2)] (4.1)

(t) e(t)

Tan Keyser [39] PID

y{t) = F [y (t-\),....y{t-n)u(t-d),....u{t-d-m)\ (4.2)

PID

(0=u(t- )+ Kp[é(t+d)-é(t+d-1))+K,_E(t+d)

(4.3)
FKAE(t+d)- 28(t+d - D+8(t+d - 2)
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e(t+d-i) =r(t+d-i)-y(t+d-i), i=123
r(t+d —i) t+d-i y{t+d-i)
t+d-i
PID
)‘; j)n-d
. | Nonlinear
" | Optimizer
| Network g
Predictor
r:../ énd ’7 ul ] }‘, o
-:CZ —_—> PID » Process >
; ¥
j’ud
41 P1D
J
a=1r, £ Hi+j)- i@t
Au(t)= (t)- (t- 1
uft+j) tt]
y{t+j) r+7
r(t+]) tHj (

(maximum prediction horizon) N 1

[ (minimum prediction horizon) N P

(control horizon) r 6

it
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(prediction weighting) r,
(control weighting)
J (4.4)
E(t) AU
J= [Er()E(t)] +~Tu[AUT(t)AU] (4.5)

E(t) =[r(t+ N])-y(t +NI),...,r(t+N2)-y(t + Np)f
AU(t) = WO-u(t- D, u(t+NL- - (t+NL-2)7

PID
ppD KIoKLK1 (optimization)
J
X kti(t) = X K(t) + Xksk (4.6)
X(t) = [Kp(t),K"(t),Kd(t)f & (iteration index)
(search direction) Xk (step length) 1
Polak-Ribiere k ( [30]
)
* 1= -+ *=20,1,2,.. 4.7)
P0—0 Xk . Annijo
J(Xk+Xksk) <J (X k) + fixkskg k (4.8)
0<1 <1 Xk
Armijo Xk Armijo
1-3 ..., 2~ g
2 4
& =-IyzkvYIEk+rwzkAUK (4.9)

WYk
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dyit+ N,) dy(t+ N}+ 2 m +NI)
ou(t) du(t) ou(t)
dyit+ N M)
du(t+1)
v . . dy(t+ N}+1) (4.10)
du(t+k)
o o o dy(t+ Np)
dug+ 11)
dyjt+y +i)_ay(t+N]+0” dng dx*-' ang-]
au(t +k) a1 dxgxdnog 6 (t+Kk) "
T /BT 1yt NT - '
THOOTLROE T ek

1=0,...JVW-N ]-,0<k<i i<N - N, O<e£<Nu-1 i> Nu N]

du(t) du(t + k) du(t+Nu- 1
dx. dx. dXx1

ANCK)={R(tHNXHK)-B (LN, tK-1) Go+ty+k) E(t+N]+K)-28(t+N]+k-\)+e(t+N]+k-2)f
dXk

G(t+N]+k-i)y=r(t+NI+k-T)-y(t+N}+k-1i) ,1=1,23

X(1) = [Kp(t),Ki(t),KL(t)Y

(feedforward) (activation function)
(linear) log-sigmoid
7' log-

sigmoid
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(s )

e

Initialize s, ‘

N

Terminate ? '>-------- (

oliE

Sia ==& *+ B

compute A, such that
| JIX 4 4,5,) S J(X)+pA s, 8

/A4, . .  SANNN .
g —c-—
S
4.2
(constraint)
PID

PID

PID

PID
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42
PID
PID
(2.11)
L
2,4 5
1-3
PID 2
2.3
2.
PID
2 2.3
L
10, 20 30
2. Np, Nu, re, r,
PID
2 2.3 , Np, Nu, T €, T,
Dumur Boucher [13] Ye 1 M 0

N ] N\h = d h Np
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2.62( )=~

3.G,(i) =" x

-1.45+1
4-G ()= (,7i?

5-G'(s)= (J.y

Tr Np

Astrom [6]

Tr
221

221

221

5.63

55

N= N «4-10

Tr

05

0.5

Np, NiLre,r,

Np, N1, r,, r1

1,2 3
14 5
1,6 7
18 9

X'1r1267

rd

N'p

N1

35

Nph=Tr

Nr

(4.12)
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